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������-�����-����� ���� ��-��#�����.��-$��$�/�������������  �������������-���0��$�$��/��
�  � ���������#�$��� � ����������)� � ��1��1%��-���0��$������ ����$�.2�#�� ���-������3���1��/���
.������31������ ��4$���$� .�$�1� ��� 1�#�$���$� -������$� -�5�� �/��0� 1�0� �.���� �-���0���
��� ��-��#�)���

����6$�����,�-����.�$�1��������#�����#�$�7�

��-�������1�#�1�$����  ��������-���0��%�8�#�����%�4�����1��������1�0� �� �$�1�����$$�$��
#�����$)��8�#��������$�� ��9�����0�1�$���0�1���.�1�������1��.0� ����������/��������� ���1����$�
��1�-�5����1�$��$��#� ���#�--���$��.����#�����$)� � :;�$�1�����������	
� ������
���� ����
:	)<)� ���)� '�=*=��>)� � <�$����� ���$� ��$���0� � � ����� ��� ��-��#�%� 8�#������ $����� $��1� ����
#�-���0)� � ��� #����%� ���� -������$� #���1� ���� ��-�-.��� ���� 1�����$� � � ���� �����
��� ��-��#�� ��1� ���� 4������� 1�#�-��������� 4�$%� �$� ���� 2�1��� ���� ��%� ?��$����1%�
��#�-�����%���1���1���1)@��������4������������������ ��-��#����/��4$%�.������$��4����
���4����:� �#���$�>)��;�#��$������-������$�#���1��������/��4������0�$��#� �#��0�4�0�����
�-���0���4�$����-�����1%�����#�-���0���$������#�$�)��
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�-���0��$��,��#����1�4����������-������$����1����4����4��53������1����.��-$)��<�����$��
����$7�

• �����	����������	���
��
��.��-���� ��-��#�������0����$��4�0������$�
�4�)� � ;0� �#��/��0� -�������� ��� ��-��#�%� $����/�$��$� #��� �����
��$��/�����$�����.��-$�$�����������������������)�

• �����	������������������ ������������������
� � ������ �$���#�--���
-�$#��#������� ����� �-���0��$�1�� ���� ��5��-������$�4��� 1���#��0�
1����4�������.��-���� ��-��#�)������.�$���-���0��$���������� ���1�
� �  ��1.�#5�A����0�����  ��$�����1�4������������ ��-��$����� �� ��
��-�����1)��B����0���1��6��1����4���������.��-%�����$����0�-���$�
�,����4��5� �������.�$���-���0��$)���

• ������������������� �����������
� �
�� ��-��#��-�����-�����$�� ����
��������� ��$�����,������$5)�����������0��������4$�-������$�-������-��
��� $���1� ��� ���1�#��/�� 4��5%� ��$���1� � � 1������� 4���� ���� �������
�  �#�������.�1���� ��-��#��#��$�$)��
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�����1���� ��-��#��-�����-����$0$��-����$���$���-������� ��-���0������ ��-��#�)��
������� ��-��#��-������$����1��� ��#��.�#5�����������C�����6$�/��4$�� ���4������-���0���
�$� 1����)� � ��� .��-�$�� �  �#��/�%�-������$� $����1� ���1� ��� ��-������ ��� �-���0��$� ��� ��
#��$�$�����.�$�$)������6$�4�0���� ��-��#��-�����-����$����$����� ��$��1�0�� ��-���0-����
��1�1��$�������1�����������-���0������/�$�����������C�����)���
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!�-���-�$� ���� ��� ��-��#�� -������ �$� ���� ��� �##������ �� ��#����� � � ��� �-���0��6$�
��� ��-��#�)������ ����4�������-$�#���1�$��������� ��1.�#5�-�����7��

• �����=�� ���3���3 �#�� ��1.�#5�

• ��#�����=�/��������������

• ��#����#���� ��-������.�������/���

• ��� ��#�$�4������ ��-������ ��-�

�) <�  ������$����/�$��$�

��) ����$�-��$����/�$���
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<�������4���� ���.��-� ��� ��-��#�� �$� ����� � � �/��0�-������6$� 2�.)� � ������ �$� ���-���#�
������� ����� 4���� 5���� ���.��-$�  ��-� �##������)� �8������$� ���� ���%� ��4�/��%� ������$$)��
������ ���� $�/����� �#����$� -������$� #��� ��5�� .� ���� ���.��-$� .����� ��� .�$�� ��$����
�,#������������ ��-��#�� ��-������-���0��$)���
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8��0���� ��-��#�����.��-$�4���1���/����##���� �-������$�$���#���������$���1��.2�#��/�$�
4�����-���0��$� ��-�����$������ ��-���0-������� ��-�����$������ �����4���$5)��������� ���
��������������%�D�������;���#���1�-�5�$����������0�.��4����-��������4�������#�����
����$� ��1� �.2�#��/�$� ��1� .�4�����4���� �� $����� #�/������ ���� ���$)� � �-������ �-���0��$�
$�������������������������1���$$��������.�4�����.����1�4����������0)�����0������$�-�������
��������%�.�����/����� �1���4���� �$� �����1� $#���������4�-��0����$�����.�����5��#5�1�
1�4�)� � ��� �$� ��-������6$� 2�.� ��� ���� �-���0��$� 5��4�4���6$� �,��#��1� ��1� ��4� ���06���
1����)��

#! *+�����
���
"��%�
���
,����
��



') B�0�������$5��$��-���������������������C������

�-���0��$���� ��-�.������4�������0���1��$���1���4���������1�/�1������$5$����-����
���� ������C�����6$� �/������ �.2�#��/�$� ��1� ����$)� � "��� �,�-���%� 4���� �$� ����
��#�������$�6$� 2�.E� � ���� .�$�#� ��$5$� ��#��1�� ��$4������ ���� ������ 9��#5�0� ��1�
��� �$$������0)� � ���� 2�.� �$� ��$�� �� /����� ����� � � ��0� ������C�����6$� #������ $���$ �#�����
�  ���$)� ��-���0��$�4���1��������1��$���1�����#����#�����.��4������1�/�1������$5$�
��1�����������C�����6$�����$�4��1���4�0�����$��-�����������1�������1�2�.)�����$%����0�
� ���� ��������,#��)���

�) B�0�������$5��$��-����������������-���0���F�?B��"8$@�

?B���6$�������"���8�E@��<���#��0�#����#����� �� ���-����� ��.2�#��/�$�4����.��� ��$��������
�-���0����$��$$�����������.�����������1���� ��-��#�)����$������������$�#����#������$�-�1��
 ����-���0��$�.� ����.������$$����1���$5$���1�1����$)��
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�/�������-�$��$�� 3-���/���1%���#���#���0���� �#������-���0��$����1��1�9�������$���#�$�
���1��������2�.$)��8������$�$����1��$5����-$��/�$����$��9��$����$������1������1�#�1��4����
��$���#�$��������1�17�

• �������5��4��1��E�

• ���������������$$����1E�
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• ���������-�E�

• �������������9���-���E�

• ��������� ��-�����E�

• 
��#�$������� �������E�


�/��"��1.�#5�F��1�0�


��1� ��� .�1%� �-���0��$� ���1� ��� 5��4� ��4� ���0� ���� 1����)� � � ���� -������$� �/��1�
���/�1����������/��  ��1.�#5�.�#��$�����0�1������4������������ �����-���0��6$�  ������$)��
B���1��$����$�������#������E� �	�.�10)� ������-���0��6$���� ��-��#��4�������� �-���/�%�
4��#������$�����������C�����)�������-���0����$���$������)��;0�1���0������������ ��1.�#5%�����
�-���0����$�������/�����#���#������-���/��.� �����������.��-�.�#�-�$�$�����$)�

���/��$��0%�-������$�� �����$$�-�� ����� ������� ��-��$� 2�$�� ?���� ��@� ��1�1���������1�
 ��1.�#5)������.�$����� ��-��$�$���/�����1�1����������2�.)��G��%�4������� ��1.�#5%����0�����
�� �����$$����4����1������������� 2�.�-���$)� �
�/���� ��1.�#5��������1�����-���6$�$���$�
����4$����-����4��5����������������������)�

"��1.�#5%�� �1����#����#��0%�#��������-������$�5����������?B)�)�)!)@��

• !��
� �8�5��$���������-���0���5��4$������-��#��� �������.���/�������������
�-���0��$%�����1�����-���%���1�����������C�������$���4����)�

• ���������
��"��1.�#5�:���1����.�1>��$�-�$���  �#��/��4��������$�1����$����� ����
������� ��-��#���##��$)�

• ������"����
������$���$0������#����C������-�2���/�#���0��������-�2���-�$$3��)��;���
����5� �.���� ���� ���� $-���� $���$� ����� ���1� ��� ��� �� 2�.� .����� 1����4���)� � "���
�,�-���%� ���4���������.��� �##����%� �����,���� ����530��� ������� ����� $�-�����
$������������-.����$$����������$�-�����#����������.����$-����$���$������#���
�11���������.���$�##�$$)�

• "�������
������4��-���0���2�$��$�����1���1�����-���������$�.����0���1���#���#��
���$�0�H��6)��G��%��/��0�����������1�����-������$���/���������4��-���0��������
-��5$)��� ������#������4��5$�����-�����������$����%�?
�����$����)��D�����������
���1�4��5)@��B����1��$������-���0�������5E��!��6$����.�.�0����1�����-�������
��5�$����%�.�����$�����1���4����$��6$�.����1����������)���


����� �.����� $��#� �#� �$��$�����.2�#��/�� ���-$�4����1�$#��.������� ��-��#�)� ��.2�#��/��
���-$��������$�������1�$#��.���#�������$5$%��������$�����������0� ������$�����������$)�
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I�10�4�$����1����������������$��-����� �#�$�$�.0�����$��'�)��
!��� 1�1�6��  ���$�� ��� ��� ��-�)� � ���$� ���/����1� �����$� 4���
���1�1� ���� �� ��-������  ��-�  ���$����� ������ ����$� � � ����
.�1���)�
�


��-���$������-����
�

�$�����#�������$�%�!����$��������.��#�#����#����$�����)����� ����
�##�$���$� :��$�� 1���$>%� �� ����#�1� ���� ����5���� ���$�$�  ���
#�-���� .0� �$� ���0� 1�����1� �  � ������ $�#����0� .�1��$%� ��1�
$�0���������$�������1����$������-�������$���)�
�

<��$�6�� ������4����
�

;���� �$� ���  � 4���� ��$� #�4��5��$� ������#�� ��-� 4����
9��$����$)� ��$���#��$�9���#�%����0���0�����/��1����5����4����
��-���1�����1�����-������$�$�����.��� ���� ���$�5��4��1���
��1��,������#�)�
�

<��$�6�� ����4����#�1���$�
�

���0� ��$� .���� �������1�0� ���1� ��� �$�� ��$� ������� ���  ���� ����
��1���  ��-$)� ������$�����1�������$)� ��$��� ��$���%��##��������
$���1$�-������-����0����������1���$����14���������1��$%���1�
-�5�$�-����-�$��5�$� ���������� #�$��-��� �� ��-������  ��-�
��$� ��-$)�
�

!���$��������1�
�

���8�0�
�����4�$���/��� ���������� �-�5���� '&�#���$������4�
���$��#�$� ���� -����%� ��1� ��#���$���� ���� ��4� �##����$� .0�
'�J� .0� ���� ��1� � � ����)� � ���� #���� ������$�  ��� ���� ��$�� ������
-����$� $��4� �� -�,�-�-� � � ��� #���$� ���� -����� ��1� ��
-���-�-�� �'&)��B����1���K�
�

�������.���
�

I���0�4�$�����$�#5�����1�0$����������$�� ����-����$%���#��1����
8��1�0$����"��1�0$%����:��$��1���$>)�����4�$�.��4���� �/����1�
����-�����$���������4��5��4�������������-�$�����4��5)�

<��$�6��#���0���$�4������
�

��#�� -�-.��� � � ���� 1�����-���� �$� $����$�1� ��� ��5��
�/�����1�  ��-� ���� �����$� 4���� ���0�  ���$�� ������ �$$����1�
��$5$)� � I���� ��$� ���� 1���� ���$)� � ��� ���$� ��� ���� �������  ���
#�  ��%�-�5�$�  ��9����� ���$����� ���������� #���$%� ��1� #���$�
4������$�#�4��5��$)����#����-�����$5�1���-�����$$�$����������
�-���0��%� ��� $����1%�  ��4��1%� ��1� -�/�1� /��0� $��4�0� ���
��� ��-�������$5)�
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;����� $��1�-� �#5��4��1��$� ����� ��� ��1��$���1$� ���
�$$���-����.0�$�0����?G�$@����?B����1��0���4�������1���E@��
B����/��� �� ����� ��-� ����� �� �����#����� ��$5� ��$� ���� .����
#�-�����1��������0%� ��� #�����1�#�$�-����1� ����$� ���#������
����$�.2�#�)�
�

�����.��� ���$�$����� �����1��#�� �$� �� ��9����-���� � ��/��0� 2�.)� � I���0�
��$������*�-����$�4�������.��������������.$���)�
�
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��#����/�$� ���� ���� 4�0� ��� $��4� ���� #����#����� .��4���� ���$����� .��� ��$� ��1� ���1�
��� ��-��#�)�

' )  "��-� � �

8�$��������C�����$���/��$�-���0���� � ��-�����#����/��������-$)��B�����-��0�-������$�
-�0�����.���.�������$��.��$���� ��-�����#����/��������-%����0�#�����$��������������,�$�����
������-$�����5��4����1��$�1)���

� )  � �  ��-� � �

;�#��$������?$�����/���$��$������� ��-��#��-�����-���%@�-������$�$����1�����5�$-����
��1�1�/�������#����/�$������#�����4��1���� ��-��#�������#���������.�$�$)���,�-���$������
-������$�#���#��$�1����������� ����4���7�

• ��-���  �

• !-������ �$�

• 8���$�

• 
�.��#���#���������

• �������.���1�������
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���� ��4� � � �������1�1� #��$�9���#�$�  ��9�����0� ������$� ��� ���/�1���� ��#����/�$)��
;� �����1���������0���#����/������%� ��-�������� ��-��%�����5��.��������.���/���������
4���� .����#������1)� � "����,�-���%����� $� �4���� #�-���0���/����-�����0� �4��1� ���
���� ������--���4���  ���1� ����-�$�� .��$� ��� �� $� �4���� ������-)� � ���� ��#����/�$�
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4��5�1� $�� 4���� ����� ���� ������--��$� 4����� ��� .��$� 2�$�� ���  ��1� ���-)� � "�����$��

����#����11�$$�%������������!�����%��&����'�������!���������������
�����)�

�! ��������
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������������  �4�#�--���-�$��5�$� �����-������$�� ����-�5�� �������/���� ���1��#0� ���
#��$�� $�����$���� ��-��#�����.��-$%� ��$���1� � � $��/���� ���-)� �8������$� $����1��/��1�
���$��#�--���-�$��5�$7�

' )  
��# ��$ � ��� � ��� �� � 
 �/ ��� � "��1.�#5 ��� �
< �   � #� � � � �-� ��0��$ �

"�4� -������$� �#�����0� ��2�0� ��/���� ������/��  ��1.�#5� ��� �-���0��$)� � ���� 2�.� �$�
�����#�����0�1�  �#����4������-�������5��4$�����������-���0���4������$��.�#5)� �����/��1�
���$� ������$���� ��$5%� -��0� -������$� 4���� ���� .�1� ��� ��-��#�� $��1�� ������ �� -�2���
��� ��-��#�������$)� ����$�������#�� �$���$�����$�-�$��5���$� ������#��#���0����������$������
����-�������4������/�������$�������1�$#�������0��#����)���

� )  �$$�-��� � ��� � ��-� ��0��$ �D��4���4� �� �<� �
��� � I�. �

8������$� 4��� ����� ���-$��/�$� $�0���� ?��� $����1� ��/�� 5��4�� .�����@� ��/�� ��5��0�
�����10�/������1� ��������� ��� ���� $�#��������-����������� ��-��#��.� �������.��-$�
.����� F� $��� #����� �,��#������$� ��1� ����$)� � ���� �$$�-������ ����� �-���0��$� $����1�
?5��4�.�����@����$�$� ��9�����0�4����-������$��������-���1� ��-��������5$���1��$�
�,���-��0���� �#����������� ��-��������2�.$�� ���$=����1���#��������$)�����$��-������$�
 ��������������0���1����������������$5$%���1���/�������4����#����4��-���0��$)�


* )  ��5 � �� ��/�� � ��$5$ � ��$ ���1 �� �!��4��� �
�-���0�� ��� �<� � ��� � ��$ 5 � ��� ��# � � 0 ) � � �

����-���0�����$�2�$��1��������-����3��1�������� ������� ��$����-�)���/�����%�����-��������$�
�������1� 4���� ���� 4��5� .�#��$�� ������ �$� ���0� ���� $�#����� � � ���� ������� ����� ���1$�
��4��5���)��������������$�1����������������$%�$������-�������-�5�$�����#����#����$����$�� )��
B����4�����������4����������������$�1�����,��-����E�������-���0���4����-�5������$�-��
-�$��5�$������)� � ��� ���� ����� ���-%�-������$�4��� ��$�$�� ���� ��-�������� ���  ���$�� �  � ���
#����#��4��5����-$��/�$�4����$�/����-����1��/��1�����3���-���� ��-��#�����.��-$)���
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���� ���� ����#��/�� -��$���$� ��� 5���� ��� ��-��#�� ��� ���#5� ��/�� .���� �����C�1%� ��1� ����
�-���0��6$���� ��-��#��$����� ���$�������������.��-�����)����6$���-�����#��$�1���-����$�����$�
�#����%���#��1����1�$#������)������0C�����������.��-��$����� ��$��$�������1�/�$������$�������)���

�! ���
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• �1���� 0���� ���� #��$�� � � �� ��� ��-��#�� ���.��-� �$� �� 5�0� $������0� ���
�$��.��$�������������$���1�1�$�������4�0$�����-���/����� ��-��#�)�����$��
��#��1�7�

• ��#5�� �5��4��1������$5����

• ��#5�� �-���/������

• 
��$������� ��1�  �#�����$�

• 
�� ��-��#���.$��#��$�

• ���.����0������� ��-�


��#��1�B�����������7��8������$����������$0#������$�$%�#���$����$%������0$�#���$)������$�����
�������-����������1��/������������-���0��6$����$�������/�$���1�$��/�����$��������.��-$)��
<�����$��� ������$���$������������$��#5������-���$$�� ��$$��$���������1������� ��-��#�����
4��5)��<��/����������������$������� ��� �����-���0�����$��#�����$��������$$��$)������-���0���
-�0�.����/�����������-������� �$� ��/�1��������?������� ����/�#0)@� �����-�������-�0���$��
������ �� ��-������ ����� �$� ���� ���� ��� ��� $��/���� ���� ���.��-� .��� #���1� .�� �$�1� .0� ����
�-���0��� ��� ���$�� ������ #�-������$� �����)� �B����/��� ��� �-���0���.��-�$���� ��-��#��
���.��-$�����������4��1�$�.����0����$�����$��������#��1�����%�����$�����$��������#��1������� �
�� #��$��  �-��0�-�-.��%�����������#0%�-������$� $����1�4��5�4������-��� ��$���#�$� ���
��$�������������������C�����6$��������.��������$�����.�����-��)���
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������$��-����.�������1��������/�����0�� ���� ��-��#�����.��-$)��B���������$��#� �#$�� �
��#�� $���������1�  ��%���� ��-��#�����.��-$�#�����������0�.��.��5���1�4�� ������������
-����� ����� ����4����#��������$7�

�,�#�����7� ����$� �$������-���0���4����$�$�-��0�����1�������$�������� 2�.�
 ��#����$�4����:���4����������>)��"����,�-���%������$�������1����.��������
$����������$��������#��������$4���-�$��9��$����$� ��-��$��$)�

����������������������������������������������������������������������������

'������-����,��$�.�$�1%��������%����<�#5�
����%������������!�������
����������:�--�#���'���>)�



�

�
�
�
�
�

���1�#�7�����$� �$������-���0���4����$��#��������)� �� ��������1�$�����/��
�-���0���1��$�����#����2�.�1����$�4����.���-�5�$��/��0�������$�L$� �� ��
-�$���.��)� � ��� �,�-���� �$� ���� �-���0���4��� $���$� ��� #�34��5��$� ���
#��������$��/��0�1�#�$������-�������-�5�$)�

B��5� ����$7� � ������ ������C������ ��$� �$��.��$��1� $�-�� ����$� ����� ����
�-���0��$�-�$��  ����4� :�)�)%������1��#�%������>)� �� ����/�������������
4��5� ����$� 4���� ��$��  ���� ��1��� ���� �,�#������ ��1� #��1�#�� #������0)��
��4�/��%�/���������4��5�����$�#���.��1�����4�����$���$�����������.��-)��
"����,�-���%�� �����������C��������$���?�����@�����#0%�.�������-���0���
4��5$� �,���� ����$)� � ���� �-���0��� -�0� �#�����0� .�� $��4���� ���
�,�-����0��  ���)����4�/��%�$=�����$�$�����/������1���4��5�����)�

�����7�����$�����.��-$%�$�#���$�$�,��������$$-�������$� ��0�/��������$%�
#���#��$��-�2������.����0��$$��$� �������������C�����)�
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8������$� -�$�� .�� �.��� ��� ����#�����%� /��0� $��#� �#���0%� ���� ��$4��� ��� ���$�� �4��
9��$����$7�

'> B����1��$�����-�������4���������-���0������1�E�

�> B�����$������-���0����#�����0�1����E�

����5�� �.������������$����������1��������������0�.�1�$��/�#�)��B����1��$������ ����1�E��
���/����$-�������)��?����6���$��4���-%@������������$�0$)��;���4�����$�����4����������5����
#��$�1� ���� $-���� ���E� � 
��.�.�0� ��0������ .��� ��$� �4�� ��� ��-��#�� :�)�)%� ?�����
#�$��-��� �$� $�� #����)� ��� ?���� #��5� ��$� .���� 1�$����� ���� #��1� $���� ���� �����)� � ��6$�
$�����$������������0�����)@>)� ��������.��-�.���/����$�-��0�4��������#����������$$�����
-�������#����,������4����$=���4���$�  ��-������-���0�����1�4���������-���0��� �$�
�#�����0�1����)�
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	������� ���.��-$��������5�%� ��1����� ���� ���.��-$� ��9����� #����������� ����	��������
���1)��
;� �������#����%�-������$�$����1���/��4����� ����4���� �#���$������$������������0���������
�/��3������1��3���#����7���

• B�����$������-���0��6$��������� ��-���0-���E�

• B�����$��������.��-6$��-��#�����4��5 ��4%����1�#����%����
���1�#��/��0E�

• B�����$��������.��-6$��-��#������������-���0��$�:�)�)%�-�����>E�

• !����1�������.�������/�$��������E�
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• B�������������������������1� ��9���#0�� ��������.��-E�

• ����������-����������#��#�-$���#�$E�
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;� ����1�#�1�������4�������������$�����#����#�������.��-%�-������$�-�$��#��$�1���4����
����$� ���0� ��/�� �$�1� 4���� 1������� 4���� $�-�����0� $������1� �-���0��$)� � ��������� ��5��
$��������$����5����$�$�/�����.��� ��$%���#��1���7���

• 
��-�������������#�������� � �����$$�

• ��5����$�-��� �����?���$$4��5@������ �����1�#�$����-�5����
���#�$$��

• �����������1� ��1���4$���$�

;��� ��-�-.��� ����� -��0� $��������$� ����� $��-� $�-����� ��� ���� $�� �#�� ���� /�$��0�
1�  �����)��"����,�-���%�4����� �0�����1��4���-���0��$�4���.����/������1�#�-���0�
����#0�.0����#�������� �����-�����0���1�����4��5�1)��B���1�0���������.�����-���0��$�
����$�-��������-$�� �1�$#������E��B����� ����$�4�$��� ��$���  ��$�� ��������-���0���������
�����4�$�� $�����$$� ��#��1� ��1�  ��� ���� $�#��1� �-���0��� ��� 4�$� ���� � � �� $����$� � �
�  ��$�$E��	�4�4���1�0���������.�����-���0��$�����$�-�E��;�$�1����2�.�1����$������%�
�����-���0��$�����$�-�����0�$������1)��;���������2�.���� ��-��#���$�����#�-����.��%�$��
���0�-�0�4�������1�  �����������-���)� ����� ��$���-���0���-�0����0���#��/����/��.���
4������� 4����� ���� $�#��1� �-���0��� -�0� 4������� ��  ����� 4������� 1��� ��� ������
1�#�-����1����.��-$)��

���1�#�1��� ��4���-���0��$�����$�-�����0�$������1%��,�-���7�

• 
���#��$���1����#�1���$�

• I�.�1����$�

• B��5���$�����$�

• 
�� ��-��#����#��1$�

• 
�$�����$�

• M���� �#�����$�

• !�������0�
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������4� ��.�1$�-������$� ��-�-�5����1�#�$���$�.�$�1����#������������#��1�#��������$)��
���$�� ��4$� ���� ��������0� #����1� ����31�$#��-�������� ��4$)� � ���� -���� ����31�$#��-��������
 �1�������4$��������� ����4���7�

Title VII 
������/��� � � ���� '��&� #�/��� �����$� �#�%� �$� �-��1�1%� �����.��$� 1�$#��-�������� �����$��
�-���0��$����2�.������#���$��������.�$�$�� ���#�%�#����%���������%�$�,%�������������������)��
������/���������$����#�-�����$�4����'�����-�����-���0��$�1�����.�$���$$� ��� �����$�����
#�--��#�)� � ���� �9���� ����������0� �#�� � � '�N�%� ��� �-��1-���� ��� ������/��%� .�������
-�$�� �1����%�$�������1�-���#������-���0��$���1�������$�-�������#����)������11�����%�
���� #�/��� �����$� �#�� � � '��'%� 4��#�� �-��1$� ������/��%� ��$� .���1���1� ���� ��-�1��$�
�/����.��� ��1��� ������/��� ��1� ��$� -�1�� $�-�� #�$�$� � � 1�$#��-�������� ���1���  ���
�-���0��$����1� ��1������$�)�

 
The Age Discrimination in Employment Act (ADEA) 

�����<��%��$��-��1�1����'�(�%������.��$��-���0-����1�$#��-���������������.�$�$�� �
���������$����0�����/���&�)��������4�4�$���$���-��1�1����'����.0�������1���B��5��$�
;��� ��� 
����#����� �#�%� 4��#�� �����.��$� 1�$#��-�������� ��� ���� ���/�$���$� � � ���$����
.��� ��$���1�$��$�$���1��1$� ���4��/��$�� ������$���1��������<��)�
�
���$��4��� ����$������1��������<��������������1������������.0�2��0%�4��#����/�$�������4�
�11�1� ���#�)� � I����$� ��� $�#�� #�$�$�  ��9�����0� ���� �-���0��$� 4���� ������ 1�-����
�4��1$)� �<��.���1�-���$�#���.���4��1�1�� ��������$��� ��1�������������/���������4�$�
4��� ��)�
�

The Americans with Disabilities Act (ADA) 
�����-���#���4����1�$�.������$��#��� �'����#�/��$����#��#���0��/��0��0���� �������C������
��� ���� �����1� $����$� ��� ���� 4�0� ��� �������)� � ���� �<�� ��-$� ��� -�5�� ��� ��$����  ���
1�$�.��1� ���$��$� ��� ���1� 2�.$%� ���/��� ��� ��.��#� ����$���������� ��1� �$�� ��.��#�
����#�--���#�����$� $��/�#�$)� � ��� ��$�� ��9����$� /�������0� ���� .�$���$$�$� ����� $��/�� ����
�������� ��.��#%�  ��-� -�-3��13���� ���#����$� ��� ���� .����$�� #����������$%� ��� -�5��
������ ��.��#� $��/�#�$� ��1�  �#������$� �##�$$�.��� ��� 1�$�.��1� #�$��-��$)� � ��� ��9����$�
#�/���1��-���0��$�������$���.�0��##�--�1���������#���$���1��-���0��$�4�����/��
1�$�.������$%�4��#������.���1�0�1� ���1)��

 
The Civil Rights Act of 1991 

������/��������$��#��� �'��'%�4��#���-��1$�������O���� �����'��&���/��������$��#�%����#�$���
���/����.��1�������-���0��$�����-���������1� ��1����-$��/�$������$��1�$#��-��������
#�����$)� � ��� ��$�� ����4$� #�-���$����0� ��1� ������/�� 1�-���$� �4��1$� ��� #�$�$� � �
������������ 1�$#��-�������%� ��#��1���� #�$�$� .������� ��1��� ���� �-���#��$� 4����
<�$�.������$��#�)�����$��-��1-�������������O���$����1�-�5��$�-��1�$#��-����������4$���$�
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